O EE HI cosx = 0.6947 & TE5h= x of Hishe] tanx o =
T ola}
b =) sin cos tan

44° 0.6947 | 0,7193 | 0,9657
45° 0.7071 | 0.7071 | 1,0000
46° 0.7193 | 0.6947 | 1,0355
47° 0,7314 | 0,6820 | 1,0724

>
> Heh: 1.0355

cos 46 ° = 0.6947
L x=46°
Wk A tan46° = 1.0355 ©|tt.
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Zte sin cos tan

34° 0,5592 0,8290 0.6745
35° 0,5736 0,8192 0,7002
36° 0.5878 0.8090 0.7265

Z
2 36° = — = 0.8090
(2) cos 5
. z=50x%0.8090 = 40.45




3. tanA=1%Y M, (2+sinA)(2-cosA) & gk
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tan4b° =1 ©|B2 /A =45°
(2 4 sin45°)(2 — cos 45 °)
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ohe 1R 2ol B = 90° A AZHF7HE ABC o4 AB =
16, tan A = % A o, cosA + cos C O] g2 otoiat,
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AC = V162 + 122 = V400 = 20

16 12 928 7
A = — —_— — = -
cosA+cosC=on+ o5 =555
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in60° = — = —
Sin 6 2
-~ CH=3V3
600_@_1
COS = 6 —2
. AH=3

HB=10-3=7
~BC = /72 + (3V3)2 = V49 + 27 = V76 = 219
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AADE |4 DE = AD -sin60° = 5 V3 x

x V3 = 2V
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